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Math 1

Quiz 2.3-2.4 Point Slope Form and Standard Form    PRACTICE

Name___________________________________
©I E2Q0z2H0b zKSuEtcaQ eSxoXfptfwjaWryeE aL^LzCo.C d SA]lAlx xrUibg`hVtfse qrGeesSebrovgekdD.

Write the point-slope form of the equation of the line through the given point with the given
slope.  

1)  through: (-3, -1),   slope = -
2

3

Write the point-slope form of the equation of the line through the given points.   

2)  through: (1, -3) and (0, -5)

Find the x-intercepts and y-intercepts of the graph of each equation. 

3)  x - 5y = -10 4)  2x - 5y = 15

Write an equation in standard form for the given graph.  

5)  

x

y
6)  

x

y
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Name___________________________________
©e A2y0c2b0j eKWuhtHaP \SVo\fZtOwxahrze^ lLALXCk.h Y mAOlUlY TrLiwgehGtqsm vrUeHsMeUryvWeTdn.

Write the point-slope form of the equation of the line through the given point with the given
slope.  

1)  through: (-3, -1),   slope = -
2

3

y + 1 = -
2

3
(x + 3)

Write the point-slope form of the equation of the line through the given points.   

2)  through: (1, -3) and (0, -5)

y + 3 = 2(x - 1)   or   y + 5 = 2x 

Find the x-intercepts and y-intercepts of the graph of each equation. 

3)  x - 5y = -10 x-int=  -10  and  y-int= 2
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
#5 answer    x + y = 3 

4)  2x - 5y = 15 x-int=  
15

2
  and  y-int= -3

 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
#6 answer  7x - 4y = -16 

Write an equation in standard form for the given graph.  

5)  

x

y

-1

6)  

x

y

7

4


